Experiment #2: DATA has extra cycle
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Experiment #5: matching distorted TP to ETP
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Experiment #2: DATA one cycle longer
Output: DTW using least squares
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Experiment #4: (b) different baseline,

DATA has extra cycle

Output: DTW using dynamic bandpass filter

o

T T T T T I I I I I

—— DATA matched to TARGET H
—— TARGET N

e —]
/ \ AN -
ANy N~ —

-__..i_ "y

I =
I T
~
)
— I'4
~
N
rd
| (
b}
(
_f

| 1 1 1 1 1

0 100 200 300 400 500 600
time units

T | T | T [ T T T T T
length of filter, — DATAfilter
least squares —— TARGET filter H

1 used here —

1 | 1 | 1 | 1 I 1 I 1
0 100 200 300 400 500 600
time units

Experiment #5: matching distorted TP to ETP
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